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Rather our Mishna is where he flung it ~ — 9178 797872 1Pn%ann RON

OVERVIEW

The X3 concluded that X177 27 (who differentiated between o8»n qwpi and WP
07X) is not referring to our mawn,' for our 71wn is discussing a case where the 713170
flung the 9°27 and it caused damage. Moo explains why the previous difficulties
do not apply to this situation.

PIINNY 299307 IN AN Y9513 999N
For we are discussing, where the %%%7 is 257, or that it belonged to his friend

and the friend concealed the 7°57 properly, and somehow it became entangled in the legs of
the 21170.

SUMMARY
In the mawn the 9°77 is 9pd7, or the 2°2777 H¥2 is an 01X, therefore the 931707 Hva
pays a 1" for mMX.

THINKING IT OVER
1. What would be the ruling (by *>17& 77>7X) if the 9°27 belonged to the 7133707 92
and he did not hide it?*

2. What would be the ruling of the %777 5va did not hide it, or if he tied it on the
513907

" The xm3 did not understand why if 1983 9wp1 he is 21 a 1'n. If we are referring to the owner of the °27; so 1"n,
if he hid it, he should be completely M9, and if he left it in the open he is a yv15 and should be 217 a w"1. And if we
are referring to the owner of the 213170 (and the 21’1 is 712 0Wwn), he should not be 2711 even a 1" since we derive that
712 MW R’ M2 WON.

% Therefore there is no %2771 %¥3 and the 133707 ¥ is 1" 21 because of MMM,

? There is a 2">771 9¥2; however he is an DX since IR, so the 1"m 210 is on the 2707 H¥a for MAE.

* See 1m 1"72'2°0 WK (see ¥ MR OW KNS K1D9D).

5 See X"WAInY XRAN2 RATIN.
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